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Tlme ThreeHOum . _. B . ._ Mamum 5 36 Welghtage '. ‘_

_ Answer the foHowmg
Each questzon carnes 1 werghtage

. “What is book bmldmg 2
) -:.Explam the relatxonshlp between rlsk and return ?
_What 1s portfoho beta ? B o

. What does secunty analyms mean ?

ol How portfoho evaluat:on and portfoho revxsmn are related ‘?

I'.-:How do we ﬁnd mtrmsw value ofa secunty? N
S - | e (6 %1286 weightage)
PartB -' ." S

Answer any four questwns of the fbllowmg
Each questzon ca:rnes 3 we;ghtage

.__.'-_:__.'.What 15 private placement, ? Explam the 1mportance and 1ts mode of operatlon m pnmary market '-_:3 »

Explam Random Walk Theory ? What are 1ts assumptlons ‘7
v .Techmcal AnalySLs 2
Rs.l‘.:]J.O_O_ E

should a; ? RSN o
P y R 'l‘urn over. o

| ‘What are the basic prmmples of Techmcal Analysm ?. Explam the use of charts and trends 111" .
An mvestor wants to. purchase a Bond w1th a matunty 3 years coupon rate 11 % and par Value'-i_. R

(a) If the mvestor requmng YTM 15% of equlvalent nsk and matunty, what 13 the prlce he - .



. '-.-.-_-:_'Parttculars . B StockA StockB C StockC‘

: What 13 the mgmﬁcance of the followmg results ? Carryout a eomparatwe analysls ?

S Standard Dewatlon of retums 4 39 :
= ".._".':Correlatlonmthmarket S 0535 8 _.--— 0326

'What IS portfoho rewsmn‘? Explam the actwe and passwe strategles in portfe 10

A company’s stock 1s currently sellmg for Rs ‘50, the latest dmden.: ..:‘.Pald by the firm was Rs. 2 ._ . :
o andfuture: dmdends are. expected to grow at'7 percent Compute the expected rat.e of retum for.—
o -.thlSEtOCk o e T e

PartC

Answer any. three of the fallowmg
Each questwn carnes 4 wexghtage, '.

Conmder a portt‘olm of 300 sharee of ﬁrm A worth .Rs Iolshare and 50 shares of firm B worth

- Rs 40!share You expect a retum of 8% for stock A and a retum of 13% for stock S

(a) What is the total value of the portfollo, what are the portfoho welgbts an nd. _hat -m the -
expected return ‘? L , S e T

(b) ‘Supposo firm A's share price goesup to s 1 and firm B's shee price falls to Rs. 96, what
. 15 the new value of the portfoho ? What return dld 11; -earn_? Afterthe pnce: ch a nge What g

are the new portfoho welghts 2o

. Beta 0800 ___-021 1-20

Aﬁifl.irha;é i:aid a-div'idendﬁof Rsl_ _5-per.-sh'are est_ y.ear. -.Thé gmmhfinee;.deia' ad

" beb% per annum. Determme the estamated maiket pnce of the equlty share growth.rate.o

’ _ _-'."_.d1v1dend (1) rises: to 10% and (ii) falls to 2% (iii) Fmd the present market prlce of the st
o requlred rate of retum of the mvestor is 15% ' o
SEp the efﬁclent market hypothesns ?

Deﬁne the Eﬂiclent Market Hypothems What kmds of empmca] ewdence were pmdu ; d to reJect"'

| ente i
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Part D I

Compulsory Questwn. ; .

- _18 . Calculate the Sharpe s Index for Portfohos X, Y and Market (M) from the followmg data _ 3
e gl i S |

e Standard dewatlon L 18% 16% 8% o

The nsk free rate 18 10% Whlch of the above portfohos you would prefbr and why 7

(1 x 6 G welghtage)._-_ o
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